Large diameter flange/high and medium
pressure flange professional intelligent manufacturing

STEEL MANHOLES ANDHAND HOLES

HG/T 21514 ~ 21535-2014

Material list
Material type and code
Part name - I
I I I IV V VI v i IX X XI
Q2358  Q245R Q345R | 15CrMoR  16CrMoR  09MnNIiDR  S30403 S30408 S32168 S31603 S31608
Shell section 20 15CtMo | Q345E | O9MnNiD  S30403  S30408 = S32168  S31603 = 531608
(Steel tube) (Steel tube) (Steel tube) (Steel tube) (Steel tube) (Steel tube) (Steel tube) (Steel tube) (Steel tube)
I Q2358 | Q245R | S30403 | 530408 | S32168 | 531603 | S31608
o | | 16Mn | 15CrMo | 16MnD 09MnNID 1 e
Francois 20 Forging'| (Forging) Forging (Forging) 530403 | S30408 | S32168 | S31603 | S31608
Forging (Forging)| (Forging) | ( Forging) | (Forging) | (Forging)
Flange cover Q235B Q245R |Q345R 15CMoR  16CrMoR = 09MnNiDR  S30403 S30408 S32168 S31603 S31608
Bolt | Hexagon head tmiti
(column) | pyl thread stud 35CrMoA
8 B2k
Nut - 30CrMoA
30CrMoA 30CrMoA

Non-metal flat gasket

Teflon coated gasket ¥ | Teflon coated gasket

Metal coated gasket

Winding gasket

Metal ring pad

MNote: Class 8 nuts and 8.8 hex bolts fixed match; 30CriMoA threaded bolts are fixed and matched.

www.zjimyfl.com E&j



Fogin'y
mincyane MINGYANG FLANGE

Q Flange

HG/T21515-2014
PLATE FLAT WELDED STEEL PIPE LARGE DIAMETER FLANGE

Sealing DN
surface T~
type
(400)
Whole 450
plane
(FF type) 500
600

B www.zjmyfl.com

dwxs

426%6
480x6
530x6
630x6

D

515
570
620
720

{57
i .

d'u-"hs
D B b b1 b: H

(mm)

480 250 14 10 12 150
535 | 250 14 10 12 160
585 | 300 14 10 12 160
685 300 16 12 14 180

H:

90
90
90
92

1- Barrel section
2- Flange
3- Gasket

4- Cover
5- Bolt
6- Nut

7- Handle

Bolt and nut bolt

quantity Diameter x length
(mm)

16 M16x50
20 M16x50

20 M16x50
24 M16x55

Quality
(kg)
38
46
s 9%
76



Large diameter flange/high and medium
pressure flange professional intelligent manufacturing

HG/T 21516-2014
PLATE FLANGE MANHOLES WITH HINGED COVER

1- Barrel section
3 2- Hexagon head bolt (full thread stud)
Type A cover Type B cover\
x\ \ m Ve lugs Ve lugs 3- Nut
. L S ot

{

b

X Hk L Hz
\\

i‘_@— %/—/@ 4- Flange
% = 5- Gasket

6- Flange cover

I
5 ! = 7- Handle
< | _— fr 8- Axle pin
L ' 9- Pin
10- Washer

11- Cap shaft lugs (1)
! 12- Flange lugs (1)

13- Flange lugs (2)
14- Cap shaft lugs (2)

Sealing o wX bi| b2 |Hi|H2| d |Bot/Nut| Bot Bot Nut| Bot Quantity
suitace | Bii . il el Sk | ol Wil Lol sl it NEAL] e | 1 -
| Diamete |Dl&ﬁ‘1€t€f" | among
type (mm) | Quantity e rod n‘n;m Quantity lengh() Gfﬂﬁf Stanless
426x6 83 =
(400) 540 495 300 125 200 28 20 22 210 102 20 16 M20x85 16 32 M20x115
426*5_ | | _ | 81
480x6 102 =
450 595 550 330 150 200 30 22 24 220 104 20 16 M20x90 16 32 M20x120 -
R 530%6 18 -
500 645 600 355 175 250 30 22 24 230 104 20 20 M20x90 20 40 M20x20 '
530x5 _ _ L = | 102
6306 181 -
600 755705410 225 300 32 28 30 240110 20 20 M24x100 20 40 M24x135
30x6 181 160

www.zjmyfl.com



Fogin'y
mincyane MINGYANG FLANGE

HG/T 21519-2014
PLATE FLANGE MANHOLES WITH DAVIT TO VERTICAL COVER

1- Flange cover
2- Gasket
3-flange

4-Hexagon head bolt (full thread stud)
5-nut
6- Barrel section

7- Handle
8- The ring
9- The hook

10-nut
11- Washer
12- Swivel aimm

13-ring
14~ Seamless steel pipe
15- Support plate

;

> -

/ H;

S

Sealing | Quantity
surface| PN| PN ' - TS I—|—a|r1‘r::1ng
type (mm) | (mm) Quantity g%%ﬁﬁ[;, Quantity !Eﬁ%ﬁﬁm ﬁ{aﬂg ' tgga =
480x6 110 -
450 595550350250220104468 30 22 24 36 16 M20x90 16 32 M20x120 '
480x5 108 89
Surfacing 530x6 126 -
(Rf) 6 500 645600375300230104493 30 22 24 36 20 M20x90 20 40 M20x120 '
*
530x5 123 102
630x6 189 -
600 630%6 755705430400240110548 32 28 30 36 20 M24x100 20 40 M24x135 190 160

Note: 1. When manholes are used in pressure vessels, this specification does not apply to Q235B.
2. The dwxs size and quality column of the nominal diameter specifications in the table are suitable for the manholes of dass I ~ II carbon steel materials and

the manholes of Class VI ~ Xl stainless steel materials.
3, the height of the manhole H1 is determined according to the diameter of the container is not less than two digits of the nominal diameter of the manhole; If
there are special requirements, it is allowed to change, but it is necessary to indicate the changed H1 size and correct the manhole quality.

B www.zjmyfl.com



Large diameter flange/high and medium
pressure flange professional intelligent manufacturing

HG/T 21520-2014
LIP ON FLANGE MANHOLES WITH DAVIT TO VERTICAL VOVER

1- Flange cover
2- Gasket
3-flange

4-Hexagon head bolt (full thread stud)
S-nut
6- Barrel section

7- Handle
8- The ring
9- The hook

10-nut
11- Washer
12- Swivel arm

13-ning
14~ Seamless steel pipe
15- Support plate

b,

|

Hza‘j H,
HZ 35 H1

www.zjmyfl.com i}



gee 8x0€S
- ELC  o/Lx0EW O 0Z O0ELx0EW 0z 9€ v¥ S'8E ¥¥ 82S 6LL 092 00E€ OL¥ 0S9 SL. xa 00S (adf 9])
8L¢Z 01x0¢€5 gL @08 anoaib
89 8x08¥ anbuo
b | 302 GSLx/2IN OF 02 02Lxi2W 02 9¢ O StE Ov 06F SLL OF2 00E 0LE S8S 0+9 0st e =
- 602 0L=08¥%
89¢  ett - 8x0€9
D0ZxEEW OF 02 SSLxEEN 02 87 ¥S 98% ¥S 06 009
- cep S 621 082 00% S.¥ 0L. OV8 9I%0Eo G
gzz 2l? 8x0€S
0LLX0EW OF 02 O0ELx0EW 02 9¢ ¥+ S'8€ ¥+ B82S 6LL 092 00€ OL¥ 0S9 SL. 00S AR
- 8L¢C 0L=0€ES 9L -ONEOUIOD)
891 02 . 8x08%
GSLx/2IN OF 02 02Lx/2ZW 02 9€ 0¥ S¥E OF 06F SLL OFZ 00€ OLE S8S OF9 oSy
= 602 0L x08%
208 | 8% DELx/ZWN OF 02 S6x%.ZW 02 9€ ¥£ $'82 82 095 60L 0.2 00F O¥¥ S2/. 08L 9X0€9 009
- opz 4 8x0€9 (NN)
2Eb GZLx¥PZIN OF 02 06x¥ZN 02 9€ 8¢ §'2¢ 82 S0S €0l 0S¢ 00€ S or0es 00s ﬁaow,
- 691 BEI0E1019 oo ¢S oL -Oneauod
€Ll OFl 9x08Y
GZLxyPZIN OF 02 06x¥ZN 02 9€ 8¢ S22 82 8.LF €0l 0£2Z 092 09€ 995 SL9 osv
- Sl 8x 08t
gl ok 00ZxEEWN OF 02 SSLxEEW 02 8y S 2§ € i 009
] o ¥S 06S VEL 08Z 00V SL¥ OLL O¥8 . 0cq
Be | =L 0LLX0EW OF 02 O0ELx0EW 0z 9 ¥v ¥ v 9r0Es 00s
= a/7 825 ¥ZL 092 00€ OL¥ 059 SLL 4, 0cc 4
Lelio s SSLx/ZW OF 02 02lxi2W 02 orosy sty
- 602 9¢ O 8€ O 06Y 0TL O¥Z 00E OLE S8S 0V9 |, oot o
soz Ove - 9%x0£9 Buepins
i Jyz OELXLZN OV 02 S6x/ZW 02  9€ ¥E Z€ 82 095 ¥LL 0LZ 00F OFY |S2L 0BL oy 009
€9
9gL P9l 9x0ES
x
i 6oL SCLXYZW 0¥ 02 06x¥ZIA 02 9€ 82 97 8¢ S0S BOL 0SC 00€ S8E 029 049 g.ncc 005 oL
cLL Ol 9x08Y
GZLxyeIN OF 02 06x¥2ZW 02 9¢ 82 92 82 8LF BOL 0€C 0SC 09€ S9S SL9 gupngy  0SF

- Sl

ssew
SSQIS)

adAy

(ww)pbusy m
S0BLINS W
=

x Jajauenq]

(LuypBus

AUend | L iaielq

Aguent 7

(L)

N | vog q [sH[zH[H| a [v [wa][a] sxvp | Nd Buijeas

Flange

minevane MINGYANG FLANGE




